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I’laal in Ajwaf in the Past Tense Passive Voice Verb

Here, the rule of I’laal Sukooni is that the vowel on the weak letter is transferred

to the preceding letter and the weak letter transforms to Yaa’.
8« J$#
s & G
From the 6 seeghah onward, the first saakin letter is elided:
SR P

I’laal in the Present Tense Active Voice Verb
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The vowel of the weak letter is shifted to the preceding letter and the weak letter

must transform to the long vowel that complements the vowel on the preceding

letter.
U ¢« Uss

In the 6™ and the 12" seeghah, the first saakin letter is elided.

I'laal in the Present Tense Passive Voice Verb
Based on the pattern ‘J=&, the procedure is:

da ¢« ds
And in the 6™ and 12

I’laal in the Command Verb

&« U
& G
& Gl
&< U5
&« Gy

In the 1%, 4t 13" and 14" seeghah, due to the rule of I’laal Hazhfi, the weak

letter is elided.



' "J;-db.:’

-

In the 7t seeghah the procedure is:
B« U8 ¢« Uf ¢« U
e R R
The remaining are formed by removing the particle of the present tense and the

Noon of I'raab at the end.
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